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Match the following

List-1 List-1I List-1I1
A) Chara 1)  Selaginella I) Having long and dwarf branches
B) Algin 11) Pyrenoid o) Sargassum
C) Microphylls i) Living fossil Il) Heterosporous
D) Ginkgo 1v) Water holding IV) Cellulose and pectins
substances
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Match the following

List-1 List-11
A) Protostele I) disected siphonostele with leat gap
B) Siphonostele II) disected siphonostele with over lapping
leaf gaps
C) Dictyostele II) Xylem swrrounded by phloem
D) Solonostele IV} Medullated protostele
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The correct answer 1s
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Question Number : 3 Question Id : 1874634803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following lists and choose the correct match
List-1

A) Tracheophytic. Archegomate.
Embryophytic. Phanerogams

B) Tracheophytic. Archegoniate.
Embryophytic. Cryptogams

C) Atracheophytic. Archegomate,
Embryophytic. Cryptogams

D) Tracheophytic. Non-archegomate.
Embryophytic. Phanerogams
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The correct answer 1s
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List-1I
Angiospemis

Gymmosperms
Algae
Bryophytes

Pteridophytes
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Question Number : 4 Question Id : 1874634804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Full up the Blanks with suitable words

The gametophytes in gymmnosperms are but Cycas shows because of
presence of nmulticiliate male gamete. The retained multicellular female gametophyte 1s
also called . In thus thick euticle and will be useful to reduce water loss.
A Sunken stomata

B. Zoowdogamy

C. Endosperm

D. Dependent
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Question Number : 5 Question Id : 1874634805 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following
List-1 List-11 List-II1
A) False sepium in Ovary 1) Fig I)  Storage of food and
respiration
B) Carrot root 1) Banana I} Lengthof Stamen filament
vares
C) Sucker 111)  Mustard II)  Subaenal stem modification
D) Hypanthodmm ) Absorption IV) Blastophaga
Bod S8 2SS EW
ada -1 sde -1 e -1
A) wsoavaos! 1) S ) Jog esdo, FiHsch
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B) 594 3% 1) ©Jd II) 3$iédoae FEH By
C) Do K 1) e I &iaranid stod
SrFU3TL
D) iRg'&oso V) aee V) =@orm

The correct answer 1s
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Question Number : 6 Question Id : 1874634806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following
List-1 List-1I List-III
A)  Acacia 1) Node of stem I) Merncarp
B) Dichasial cyme 11) False septum M) Lanuaceae
C) Lateral out growth i) Monochasial cyme IM) Photosynthesis
D) Argemone iv) Phyllode IV) Parietal placentation
Eod TEY 2S5E %0
e -1 zde -11 e - 111
A) sl i) soddn Sed D $ewio
B) &zdod Agdo i) edEsodgsn I oddds
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The correct answer 1s
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Question Number : 7 Question Id : 1874634807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the comrect statement/s
A Inmajority of algae fonnation of zygote occurs in female plant
B. Cladophora produces identical gamets

C. InBryophytes and Pteridophytes the ratio of male gamets to female gamets will be
several thousands

D. InMangroves seeds germinate while in mother plant to increase environmental stress
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Options :
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Fill up the blanks with suitable words

The abihity of the pistil to recognise pollen 15 dependent on components and
guide the entry of pollentube. This study leads to help in getting

even in ;

Chemicals

Plant breeders

hybrids

Incompatible pollination

monwe

Synergids

ol S0 Sows Foothin
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Options :

. A B.C.D.E

A.E. B.C.D

LJ

, EA D.C.B

A.C.B.D. E
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Single Line Question Option : No Option Orientation : Vertical

collegedunia

—



Assertion (A) : Unlike coconut. groundnut consume endosperm completely during embryo
development

Reason (R):  Though the embryogeny is similar in groundnut and coconut. perispenn
1S seen 1 coconut

InSo (A): F0e shom Db LomTDHBE wobddSded Fom
Juadrfiodfotnod
50 (R): §23)0 S:0000 BWIIAS" LoTPINGS” FOE SIS 8 ey 0" ST BB
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Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 20cSe (R) ©0 Dol F0R0SD So0cie (R) 638 (A) Ho H053085 58
1
Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(A) B0csn (R) o0 Bodr S0G0HD 50 (R) 636 (A) § 206308 260 5760
(A) 1s true but (R) 1s false
: (A) 206156 50 (R) $053:858 s
(A) 1s false but (R) 1s true

(A) 56630858 596 520 (R) S0R0%8
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Choose the wrong statement :

A Inhydrophully the pollengrains are covered by mucilagenous layer and m water hyacinth
pollination takes place by insects

B. Nector and pollen are the rewards for amimals i pollination but not mn Yicca and

Amaorphophallus

Autogamy can be prevented by herkogamy and cliestogamous flowers

Wind pollinated flowers will have mult: ovule condition for more seed production

C N
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Options :
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Question Number : 11 Question Id : 1874634811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Choose the correct combination

List-1 List-10 List-IIT
A) Raceme 1) Cupshappedthallamus 1)  Deivis indica
B) Mathematical model 1) Codes II) Use of computers
C) Tnmerous 1) Species plantarum ) Artificial System
D) Histona plantarum 1v) Capsule IV)  Allium
o0 BoRd S MBodd
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The correct answer 1s
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Assertion (A) : Cis and Trans faces of the golgi associated with glyco proteins and glyco
lipids

Reason (R):  Golgi apparaus is i1 close association with rough Endoplasmie reticulum

IS0 (A): PP S0k re) Sugroe fo mHN0Ede 25‘@"53@, E?&‘é’aéu&' OO SO
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sdo0 (R) : e H0ESu Kose @od{iigerudnd 0 dowodo SOPolnod

&

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) o0csw (R) oo Bodr S0GED Sooain (R) 836 (A) 8 $0G3e8 D8

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(A) D0un (R) o0 Jodr S00S5D 570 (R) 038 (A) § S0638 DS s76

!u.i

(A) 1s true but (R) 1s false
(A) S8GLE6 57 (R) 9883036 5

(A) 1s false but (R) 1s true
(A) 30056 & 50 (R) SO0RE6
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Choose the comrect combmation

List-1 List-11 List-IIT
A) Radial spikes 1) Sealmgof DNA ) Axoneme
B) H, Histone 11) Positive charge histone II) Liesoutside of core
C) Negativelycharged DNA 11) Lmkers IM) DNA package
D) Nucleolus ) Nomembrane IV) 1-RNA svnthesis

W0 @ous adde oo

de -1 ede -1 ale -1
A) Fgrgaves ) DNA% ©88508 D edids
B) H; oas 1) TG sndduio ) &% Jwdon Sod
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The correct answer 1s
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Question Number : 14 Question Id : 1874634814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia

—



Choose the correct statements

A Acid soluble fractions have more than one thousand daltons

Common acid used m the hiving cell compound analysis 1s Hydrochloric acid
Number of carbons in Arachidonic acid 1s 20

Serme 1s the hydoxy methyl group anuno acid
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The correct answer 15
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Question Number : 15 Question Id : 1874634815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Find the wrong statement

A Polymers of polysaccharides. fats and protems are synthesised from monomers by
1oni¢ bonding

Molecules with polarheads and hydrophobic tails are present in cell membrane

Left end of protein chain is N-ternunal end

Right and Left handed helices are observed in protein

oOnNnw

PO Fgmgod lotiudn
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The correct answer 1s

SBEDY BEREEB0
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Question Number : 16 Question Id : 1874634816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Fill up the blanks with suitable words
In Meiosis. chromosomes start which 1s called thus a of
clromands. Later the nonsister chromatids will undergo leading to genetic matenal

PILSs S0 Yo Houd Fooghiw

ESHESn =SS Fars S SGydaon. EIV 6l & FEESE
Lolrd. S0d FEVET FNE8 Dodg 200 zlogday
BB R0E.
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Pairing Synapsis Exchange Tetrad Crossing over
2SO &r@’dﬁmﬁﬁu .‘:33*03& SAQ,0 SR S0

Correct sequence 1s

S0GBS EB0B00
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ASBoDSESC
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A-BoC—-aD-sE
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Question Number : 17 Question Id : 1874634817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Chromosomes are mactive and not transcribed to messanger RNA mn phase
of apparent division
Reason (R) Cells remiains metabolically active but no longer divide in quiescent stage

Jfdo (A): Sygardta JPad Sfchol FRd e fcird)Somods oD
RNA & $ro 208 Ao
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Options :

Both (A) and (R) are true, and (R) is the correct explanation of (A)
(A) 20csn (R) ©0 Boer FOGND Ho0cin (R) w38 (A) Ho H05308 JS5¥=

Both (A) and (R) are correct but (R) 15 not the correct explanation of (A)
(A) 20csn (R) o0 Bodr S0GUSD R (R) 636 (A) § 30538 2580 5760

L3

(A) 1s true but (R) 15 false
(A) SBGRES 0 (R) SOSR8 &&

(A) 1s false but (R) 1s true

, (4) 56850 57 £ (R) $0g:55

Question Number : 18 Question Id : 1874634818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sclerenchyma gives mechanical support m

Gyésamruo WS Bro@S BT REN

Options :
Seed coat of Legume. Frut pulp of Guava. Leaf of Tea

Birgioe dufiow, e Dy, Bz JFo
]

Seed coat of Sapota. Leaf of Guava. Pulp of Legume

S DesiTw, i Sigo, Bilrgd: S (Do

L

Seed coat of Guava. Leaf of Legumes Fruit pulp of Tea

Fi Daddow, Birgd Sgree, Bard oo ey

Leaf of Pear. Seed coat of guava. Pulp of Lezumes

ouil Yo, i dz $Sorws, BibgH Sure Ry
4

Question Number : 19 Question Id : 1874634819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
P collegedunia:
ok s -

India’s largest Student Review Platform

—



Epidermal haiwrs of shoot system

I  Unicellular or Multicellular

I  Multicellular, branched or unbranched
M. Secretary in fimction

IV. Absorbs water

V.  Prevent transpiratory water loss

i W [eRSeSTS) avess ] P3N

B5m0d SgRS7 erIrgddEees

L QEfoind BT wviacing

I adviscdud, Frdud ST FPidrdo

I (6203 35
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IV 283 o

V. wrdndiE 08 SR 5005
Options :
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LIV.V

Question Number : 20 Question Id : 1874634820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Plants which show given characters respectively

A Long petiolated leaves. Rooted hiydrophytes with tloating leaves
B. Succulent roots. water in the form of mucilage

C., Submerged and not rooted hydrophyte

D. Grows m salie soils. respiratory roots

Bod vimred Sy Iug o IOIT
A D2EIS BiE Spere 500, 3k S 506 AUD B8 SETw fv I8 IngHw
B. J5g08 3y $00, AGD 2ihS Srdod” Jug T JwE),
C. omr JBS" Sudh, T8 Goddod 4ol OO 3w,
D. &3y wisor &) o woibér, TR 3% SOAS6
Options :
Nymphaea, Salvinia, Tvpha, Vanda

Qupakr, Fdpdalr, S ToF

Victoria regia, Asparagus, Utricularia, Rhizophora
DE Ve i, eB)oilB, abudisydotr, 3y

L2

Sagittaria, Pisna, Hvdrilla, Vallisneria
250an, SPakr, INBer. TES Joakr

Victoria regia, Asparagus, Salvinia, Rhizephora
DEOair Sy, SN, FEIr, o

Question Number : 21 Question Id : 1874634821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the cormrect statements

A Porms allow molecules of small protemns present m membrane of Mitochondria.
Chloroplast and bacteria

B.  When a living cell kept in hypertonic solution. the water potential is equal to solute
potential

C. Carmer proteins will allow all substances across the membrane where as pumps
transport large molecules m a passive method

D.  Bulk flow can be achieved through diffusion

POGEOR TEWHEO olcdos

A DE'goBar, §TTR, oiolr Sndidosio 6N oS OF Der | FES
(Boirmars @S dow

B. &@dw 2ifarw wiE mEs fu \TH00d" Goddtyd o8 F850 T'08 ¥ 08,
RArR0 JBood

C. &8 @8k 81850i00a ¥) IoTos SoParow. 5, WPLd VW, IFdod’
oo KT D LEHODH HoPEown

D. [Grd @aodrdn I00m G607 adibi

The correct answer 15
[0 BT

Options :

1A.B

C.D

LJ
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i B.C

Question Number : 22 Question Id : 1874634822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the comract conbination

List-1 List-11 List-1I1
A) Mo 1) Delay m flowering I)  And transported through
Xylem
B) Anudes 11) Contain more Nitrogen ) Whiptail in Cauliflower
C) Hydroponics i) Commercial Production 1) Seedless Cucumber
of vegetables
D) Pseudomonas v) Demtrification IV) Reducedto N,
<0 Lows adds DI
Do -1 o -1l o -1
A) Mo 1) I sodgor ) oosee oo Soe
:}5_) S0
B) wodw 1) IS A@=d 5O ) 63508 Foaa's
C) \&'FI§ i) Srdmaheo Fdeghd ) J85 o8 &S5 o®
Sd\g
D) JordIrad V) 258800 IV) $igz2dmr §osi=o

The correct answer 1s
JOGWS SBFTRD
Options :

IA_B

AC

2

C.D
3

, BD

Question Number : 23 Question Id : 1874634823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arrange the sequences 1 enzyme action

Product releases and free enzyme agam binds to another substrate molecule
Enzyme to alter 1ts shape

Substrate binds to active site of the enzyme

Fits in to the active site

m o nw e

Formation of enzyme product complex

QoA Hdgairo@soS o Jig |85 SO vk

A Gonbow JBIBS Sond "‘I’Jﬁﬁ?ﬁu@:’.\n S6°8 oiy ST s Fanloodh
B. J0c85n wsgod drdyy $id300

C 283 Sogo gariodiod 2cddiyded

D. $chile JSoS's adbbFsud

E J025% sabd Jofio JH%H00

The cotrect answer 15
SOGLH PTG

Options :

. A C.D.B.E

A B.D.C.E

C.B.D.E.A
3

" C.D.B.E.A

Question Number : 24 Question Id : 1874634824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

First reaction in electron transport of Photosynthesis

S¥mady SoRrifcd JoFgs Sowrd’ 20h DolSedd £0g

Options :
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Photosystem II Chl a absorb light of 680 nm and transport €™ to cytochrome
5708 S5 11 Chl a 680 nm s70d ol e PEFHR domer Tahdo

Photosystem I Chl a absorb light of 700 nm and transport e to pheophytin
5o gy I Chla 700 N 5708 0l e A PBEB Samer Boko

L

Photosystem II Chl a absorb light of 680 nm and excite e from atomic nucleus to
tarther orbit

5708 5p5% I Chla 680 nm 5708 F00 G$BEd e SESrmSoE@ESw &Suod
Srdor &) £85e5'8 E."SCI:JL}%..J

Photo system I Chl a absorb light of 700 mn and transport & to cytochrome
5208 3557 1 Chl a 700 nm 57080 0l e PUE'DR daro Doinob

Question Number : 25 Question Id : 1874634825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct statement

A Dafference between Cyq and CAM pathway is the CO, fixation and Calvin cycle are
separated m space and time respectively

B. Aldolase combmes two 3-carbon compounds as well as one 4-carbon and one
7-carbon compound

C. Based on the labelled carbon studies CO, fixation products were identified
D. Stroma lamella and Grana lamella are identical in the dismbution of the photosystems

0SS TGOS wBodod

A C3wE0¢" taiw CAM 3wE, & CO TSR, sO10 HOSC g’boﬁaun“' NSTaTovSY
sroddorr 3% Jwind Godron

B. g0 vidl ok 354N Sorges Tl o 4593 Sddn TEH dTguil
E03:95

C. STd) 6Tl 4i@3riod CO;TISS" 6B UG dTgol HeTd

D. JLovoihw, sigSoDadS” 3¢ JSgo0 uf Jdor IgTn Bud Soirow

The cormrect answer 1s

SOGRE BT RHE0

Options :

 AC

, B.C

3.FLD

B.D
4

Question Number : 26 Question Id : 1874634826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct statement

A Reduced ubiqunone is oxidized with transfer of electrons to cytochrome C via
complex I11

B. Intermediates in the respiratory pathway are not utilized for synthesis of other
compounds

C. Fatty acid will broken down to acetyl CoA before entering the respiratory pathway

D. The energy released by oxidation in respiration 1s not used directly

0GRS Tppgos WEoDus

A Eoh¥dmo Bobd cinbESS, Hofho Il oxo pE'ES C & Jogs =68 oy
58§88 0 B0

B. #gdfoh Sgod" IHB el SrGpins SoTw NG ITTe SHTE S'EEY

C. FYg sivw FEOEche I8 BRothidnodh endd CoA m JYFHo Dovow

D. #REchs” Esﬁljééﬁsae?‘ QGO wowd ¥§ ESgE0T IVABFNODLEE

The correct answer 1s

HOGN SBrEHED

Options :

, A.B.C

B.C.D

|-

A.C.D

7 A.B.C.D

Question Number : 27 Question Id : 1874634827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the wrong statements in the following
A Winter vaneties when planted in spring normally comes to flower before growmg
season

B. Inshort day plants above critical photoperiod flowering will be imitiated
C. Kinetin has specific effect on cyvtokinesis which is a modified purine
D. Auxins are used as herbicides

Bod Tgpgod” 05N TR HBoSn

A Svo Jsrod SHodswod’ 88 JANSE Fuod o Yo

B. 30850 Ing o 508 5708 500 $08 89S edidyde Hiydow
C. Sa@dgdefedn Grpie od Srdrodd Sridds 3RU0 J3Y ardo Qs
D. o83 duiswm IIErNTE

The correct answer 18

SOGS BEFTHB

Options :

1A.B

.. BE

3A.C‘

AD

Question Number : 28 Question Id : 1874634828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill up blanks with suitable words

In a graph of length of organ against time. which is a typical and expressed as
However. n a graph of growth against tune will appear with expression
of . Where 1s base of natural logorithm and also 't as

Tod S0g0H dSTed Foohsn
28 oo FEJH SO oy Sowead) dpr Do AdSSYE ©8 ™ 55308,

TR m SrdoShay 50 Rhibde Glirards, sl Sdy Sonodd) oo
o AdSGyds ©b ™ 5308, BV T ArDoSSty) 2aESos™

S5 dodde spdor So0ain redsd DTS5,

A B C D E F
Siginoid curve W =Wge Li=Lgtt Linear e Efficiency index
R:rrgm& :JLS‘am “r1=WQEn L; = Lgt1t S s O e ﬁ,&’% AR

Correct sequence 1s

R0GAIN S

Options :

D.C.AB/EY
1

ABCIDEFR

L-J

C.B.A.D.EE

A.B.E.F.C.D
4

Question Number : 29 Question Id : 1874634829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following

A)

B)

C)

D)

Bod

List-1

Discovery of DNA
as genetic material
Chromatium

Conservative
process
Beggiotoa

TEY 2S00
i -1

List-11

1) Transforming
principle

11) Derive energy from
oxidation of inorganic
substance

111) Capture light energy

) Donor retain a copy of

genetic matenal

e -11

A) DNAxd Sordormrm 1) aidog D0S5GE
CASHVER Sarergrdo
B) SDIa0D 1) 983 LoBeh
Sove «hie ogo
C) Bobf x8ch 111) 780 50d ool
o Tson
D) &ghdarir ) &8 ol 23:63555‘3‘
S0 O
GovoFotned
The correct answer 1s
STTSS VRIS g SV
Options :
A B 2 D
' 1. II0 11 i, IT n: IV
A B C D
, IO . 11 A | ., IV

2

I

List - IIT
Conjugation

Obtain carbon from
atmosphere CO,

S. pneumoniae

Obtam carbon from CO,

e - 11

éud’mﬁéﬁu

Teiboos'd COy
STaLR) E’fﬁﬁ?&:

S r:iJ;EJ'.Da‘.EJ"

CO;»S0D 5655
B o
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A B C D

5 1. 11 1. I v. III 1 IV
A B C D
J w. T 1, IO ut, I i, IV

Question Number : 30 Question Id : 1874634830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : DNA from Bacteriophage head passes through tail core through plasma
membrane and enters bactenal cell

Reason (R):  Plasma membrane of the host cell gets dissolved due to lysozyme and
releases the new virons

agdo (A):  =hocs» 5 DNA deepiio 0D 5% D08y srfo axon, Fdndeso
oo @oiraddy erpldioiie o™ EI8%0b
5820 (R): wdFow Swdrdo BB oo s0NcTnd 83 &8\8 vond Jbolow
IBEY PO
Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(A) 5805 (R) &0 Bodr SOGSD H0csn (R) 38 (A) 5 H0535 D56

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) D0ciw (R) @ Todr S060LR2 570 (R) & =0 (A) § OGBS DS

a

(A) 1s correct but (R) 1s not correct

(A) 50658 50 (R) S0G86 $°6

(A) 15 not correct but (R) is correct

(A) 556058 52t 5 (R) HOG86

Question Number : 31 Question Id : 1874634831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Choose the wrong statement.
A A single gene product may produce more than one effect thus it relates to pleiotropy
B. Dominance is an autonomous feature of a gene or the product

C. The frequency of recombination between gene pairs on the same chromosome as a
measure of distance between those genes

D. Breeder cannot select the mutations of the desirable types as 1t has less vanability

POFY Tywgeds LGS

A o8 alyy edbhio Lil508 S PyTod Swil Do) wdvdPerddn
DIy W)

B. ar¥sdto o636 of 2z O of alog Y Jdog ofain

C. o8 ST adgho ado NGy PirHoBrasd dSiPdge SSHAriod)
e Yo gy Grod) Benins Bl

D. @258 8§ 49\055vos" 89 5 30§ tud Godod Sud Togcl Istol

WSS

The correct answer 18

SO JBPTHED

Options :

1

b-J

AB

B.C

AD

B.D

Question Number : 32 Question Id : 1874634832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Choose the correct statement

A DNA is chemically more reactive and structurally stable compared to RNA

B. Catalytic RNA is known as Ribozvmes

C. DNA can directly code for the synthesis of protein. where as RNA dependent on DNA
for protein synthesis

D. Presence of 5-methyvl uracil i the DNA also confers stability

PORoS Fgmgeo whosed

A DNAG>d@som J85 dogios 39 Jombery RNAST) ©8s Siard) 59Hotnod

B. ©3\0% RNA ui 3B 0d wolrd

C. DNA @83 soams BésE soddom S55eoDs, RNA &5 @85 Soidemb
DNA 5038 Sotwod

D. DNASoh fo 5-0058 cduodd sodbo Sul ey 2ined

The correct answer is

SOGS SEPTHS0

Options :

. B.D

B.C

|_.u.ll

AB

C.D

Question Number : 33 Question Id : 1874634833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : During transcription both the strands of DNA are copied
Reason (R):  If both strands act as template DNA would code for RNA molecule with
different sequences

Ao (A):  =5Bpssng’ DNA &' Bok Fbes 38§ dgisdon

sdwo (R): DNAG'T Tod Fben Swrddosteon Sp5507% RNA vmHos' S

203 whESres Sodron
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Options :
Both (A) and (R) are correct and (R) s the corract explanation of (A)

(A) S8c5n (R) &0 Bodr HOG0SD Sobcko (R) e@a (A) & 50608 58D

Both (A) and (R) are correct but (R) 15 not the comrect explanation of (A)
(A) B0 (R) w0 Bodsr $08G0HED 50 (R)83d (A) § S0S08 DSdm s

[

(A) 1s correct but (R) 1s not correct

(A) 50058 2 (R) $565056 58

(A) 18 not correct but (R) 1s correct

(A) 5683058 & 5 (R) HOGSE

Question Number : 34 Question Id : 1874634834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following

List -1 List-1I List-IIT
A) Tailing 1) 28s. 18s. 5.8s [)  Transported out of
nucleus
B) rRNA ii)  Addition of methyl M 3'end
guanosine triphosphate
C) Capmg 1) m-RNA II) Transcribesby RNA
polymerase
D) Processed iv) AdditionofAdenylate  IV) 5 endof hnRNA
hn RNA Residue

Bod T8I 2I5HTWDW

e - ade - 11 e -111
A) Book i)  28s. 18s. 5.8s D Boso 50D AY,Wons
B) r-RNA i) PSS MTRS m 3585

BF s SHaso
C) sSof i11) m-RNA ) RNAIOSTE weo
e ow S0

D) ImRNA iv) @8308 witdo IV) lnRNA &, 55 58

\SaSdodo Sl

DoSadd

The correct answer 1s

DOGH DEPTSBI

Options :
A B C D

1 w. I 1. 11 i, IV i I
A B C D

v, IT i IV 1 111 L1

4
.
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A B G D

. . IO IV .1 . I1
A B C D
i u. I L II0 m. IV il

Question Number : 35 Question Id : 1874634835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find out the senes of genes m the transcraption unit of the followmg statements
L  Located towards 3 end of the structural gene

.  Flanked by promoter and terminator

M Located towards 3 end of the coding strand

e0es Pireod" & $ob Tgugo oo 2dgSSHdud oS
L Joym =kugly Qg 3 85 2 S9) Golnod

I &8 ak 3o L:\’)?;‘;:*&.JS. B0 RS Godrux

ML 50889 &S 3 S8 S0k

Options :

Coding strand, Template strand, Structural gene
PUBEY Fd, JordPos FI, Joyw 2y

Promoter, Structural gene, Ternunator

G300, Joye adogd, GORLE

L=

Terminator, Coding strand. Structural gene

BORLS, $086H U, vy 2oy

Termunator, Structural gene. Promoter

’ TO 00, o adgy, Warkd

Question Number : 36 Question Id : 1874634836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Find the wrong statemnents

A Tocut DNA with restriction enzyme it needs to be pure form. free from RNA. Protein.
Polysaccharides and lipids

B. RNA can be removed by protease enzyme
C. DNA separated as suspension can be removed by spooling
D. DNA can be precipited by adding warm ethanol

RO TP fBotuSw

A DNA & @85 JoBins' Doohityd ©& ndS RNA, @8S8, Fdrzdioo
Sobain D@ Bom JgEH POS' womd

B. RNA S @8ch&E oSog =00 It Jobdy

C. Ioss0d DNA K Su8Fe oo Dababsdy)

D. DNA & 330 9656 oo edgadn Doboudsy

The corract answer 15
ROGRS SAFPEER

Options :

, AB

C.D

2

Question Number : 37 Question Id : 1874634837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct statements
A Early detection of pathogen presence can be done by PCR
B. Biochemical products produced by bacteria are inferior to products produced in

transgenic plants

C. Validity of the GM Research will be controlled by Genetic Engineering Approval
Commiftee

D. Use of bio resources by multinational companies with proper authorzation is not
possible

P0ghE agmgea MaBouioiio

A g6 oforen 55685063 PCR oo 700 0BS5Sy,

B.  =zdog S0388 3w o IGED &5 Srohares S0b wrildrd’ duiridyy dorgos
G885 Ty §O Golrow

C. GMzJho J0TES By, hydo, 2588 2030008 oFsS §Had
ol oS niodied.

D. 23500 o8 fouldes 255555 w305 dur TENOT Tondo FEFos

The correct answer 1s
DOGS JSArErEB

Options :

B.C
1

AB

|

; B.D

AC
K]

Question Number : 38 Question Id : 1874634838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arrange the steps to be followed in breeding techniques
A Creating the plants as pure lines

B. Progeny of the hybnds to be tested for the homozygosity for generations

C.  Evaluation by growing inresearch field. tarmer field and then for three growing seasons
m several locations

D. Evaluation with best available local crop cultivars

E  Pollen graimn of desirable male plant to be collected and placed on the stigma of the
selected female plant

F.  Effective exploitation of natural genes available in the population

Puds BRrTedt fo D8 Bt SdBERSt BBigos

A BESHESresH Byosis

B, ;3635?6 RUSH Rudd Bwsuds" Sdtuindd wRssTre HO% H68uthl

C. J0F¢T Boros® 808 D o 00 I aedud’, G BETod®
F % I3 Doiods

o

OGS fo GES JUE JHgEEes ITdw

E 08 adshamr J8gd 3ug, a0 DEC0D AR [ B8 Joibiud) 3w,
Soiod @ood

E 259 odof dFa algPod @ésricdon IVRrhodhs

Options :

1I—‘BAEDC

L

Question Number : 39 Question Id : 1874634839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the followmg

List-1 List-11 List-TII
A) Hamryleaves 1) Anmnal mamue and I  Potato
sewage
B) Spirulina 11) Bacterial Blight I Jassids in cotton
C) Apical menstem ui) Resistance to pests 0L Cowpea
D) Pusakomal ) Disease Resistance IV.  Richwith protein
Bl SEY 2850000
e -1 ade -11 e -1
A) JHgEToo 1)  2oNHo 859 I) womedosd
DO SNt
B) ®ybao i) @80ad Ees I $as* =Hyb
C) w@Ederagimweroo 1) WE0IGEES I Feydd
D) Ira SHs V) TgoIT EES IV) @& w68

The correct answer 1s

ascga:s PRI TR0

Options :
A B C D

: 1.1 n 101 m, IV Ao |
A B C

T | . IV 1.1 u. 111
A B C D

" I 1. 11 W IV m, I
A B C D

” m. 11 LIV w1 . 111

Question Number : 40 Question Id : 1874634840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following

List-1 List-1I List- 111
A) Wme 1)  Useful aerobic microbes I} Beverage
B) Flocs 11)  Without distillation II) Sedimented flocks
C) Ethanol i1) Brewer’s yeast II) Associated with
fungal filament
D) Acnvatedsludee iv) Reduced BOD IV) Fermentation of
Malted cereals

Bod FBA 2858550

e~ -1 e -1l ade -1
A) 35 i) SSDPAES o D Fdosre
Sird SrHEHes
B) JsfgdHoised i) “gds drdo o) w53 dogw
C) agas 1) EeS6) S ) oo JobHud
§O% Sodor
D) &ss S sogo 1) $4SBOD V) $oc0Bys

TEgY wok

The correct answer 1s

:66@_0:5 AT " i3

Options :
A B C D

g LI . II 11, ITT . IV
A B C D

, vl ELIT T LIV
A B C D

: 1. 111 111, IV 11 . I
A B C D

, BT LII LIV e
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Zoology

Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 1874634841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Species 1s an evolutionary umit
Reason (R):  Individuals of a species have similar structure and functional characteristics

I So (A): 6 &8 oD XA
sdevu (R) : o8 8 dPen ATYEnE)S, SuirE)S vErod” eyl SO0 Golran

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(A) Botaon (R) ©o Bodr $0@0dd 0 (R) €38 (A) & 505308 58

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) Suban (R) w0 Bodr H0G0E0 50 (R)wRd (A) § 0@ Jd8m s

(A) 18 correct but (R) 1s not correct

(A) A0S 50 (R) 205080 5760

(A) 1s not correct but (R) is correct

(A) S0GBSE & Q0 (R) 206636

Question Number : 42 Question Id : 1874634842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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—



Assertion (A) : Mammary glands are apocnne glands
Reason (R): In apocrine glands. the entire gland cell disintegrates to discharge the
contents

Odo (A BSffedbes IFES fodows
siwo (R):  JFES flodheod” Smo Twde J9iF0 Job TR ool Judok
BB Txob

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(A) 0csn (R) ©0 Tokor F0GND So0cin (R) 238 (A) $o H0508 D582

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 56050 (R) &0 Bodr $05050 59 (R) w3s (A) § 506355 iS¢ 525
(A) 1s correct but (R) 1s not correct
(A) 566058 52 (R) 3653058 58
3
(A) 1s not correct but (R) 15 correct

(A) 586058 B 50 (R) $08038
4

Question Number : 43 Question Id : 1874634843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following statements

I)  Stereocilia are long. non motile cilia like processes and are found in epididymis.
internal ear etc.

) Os cordis 1s a cartilage bone
II) Adjacent myocardial cells are jomned by gap junctions
IV) Nissil bodies represent the smooth endoplasmic reticulum

Bod worw wFgoinio Dodwsd
1) B Brdciiow FEHT, ToSEr SN FVEoUT Golrow. 2D IBEFWN, UHO

- [ -
D 0GB é‘% Sodran

e

£l

I e s‘gfa &3&@% % b W0

) ©%), 9§, DErsPed Earw 0§ Jodow anT Sud& &otrow

IV) 398 Semuon &P wosdSBhy wrord) SedFon

Identify the correct statements
» T8S" H28 woTw RDiedus

Options :

LIV
!

L1I

!.-.'I

LIV

OLIV

Question Number : 44 Question Id : 1874634844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the followmg

List-1 List-1I
A) Gorgonia )  Crustacea
B) Trichiuiis Il Polyplacophora
C) Asracus ) Acnunozoa
D) Lepidopleurus IV) Scaphopoda
V)  Aphasnudia

1Bod T8 283500

he -1 gde -1
A) Tooa D 2%
B) (SSciurosS I IoOSsdo
C) IFsd ) J85'S s
D) &2&grde V) oo

The correct answer 1s
S0GRN HBrHSE00

Options :

A B C D

o NV I

L
—
=
=

V

N m o I

Question Number : 45 Question Id : 1874634845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Study the following statements

I) Dagestion i sponges 1s extra cellular

) Prmary function of flame cells in flatworms 1s osmoregulation
II) Clitellwn is absent in unisexunal annelids

IV) Dipleurla larva is considered as the ancestor of echinoderms

Bod woven efigoido Fched

D Jozbod” Saudy ZEH =2Ribdnd

I) =oddd YOS’ ooy (PENE IR |Eoddla ESs
o) Q5B u30bos™ Eﬁt’.gu WO

V) 3gdo &ogéo IBITEG L SodEdm SVABIH

Among the above. correct statements are

D OGS OGS voren Hlodod
Options :

LILII

LIOLIV

| ]

SILIV

i ILILIV

Question Number : 46 Question Id : 1874634846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Renal portal system 1s absent in

DY, VTS S GRols Yoo

Options :

Fishes and Amphibians
ey, SPRISTW

collegedunia
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Cyclostomes and Fishes

o5 RFOLD, SN0,
a ™ oo —

Reptiles and Birds

oL Rl D Loa  ohof "
rdu-:.at);"‘w. w0

Cyclostonies and Manunals

PEFow, S
=y =)

Question Number : 47 Question Id : 1874634847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following table

S. No. Group Characters Examples
[ Urochordata Tunici. ventral heart with reverse Doliolum
flow of blood. bisexual. tadpole larva
I Cephalochordata | Solenocytes. ciliary feeding. Branchiostoma
presence of atrium.
closed circulation without heart.
gonads with gonoducts
I Vertebrata Pawred fins/limbs. ventral heart. Bufo
kidneys. hepatic portal system
Bod SEE5 wfgaiio Beod
D00, | By OB e SO0
I oSG sRir Lrglns, 050y Sg8608 Bfud’ o SOareo
SSS Sytioho, GEchbBonsmen,
&raFS dogigo
it AN 2 FBI DR, FOFTHCH P, JPBcke | @rofdrgide
Sobbo, HodB Hudyd 8§ Widm,
Dearorsod’ 5885 datrw
m | Sp@/ Ssods Taren/dIromes, arg 9
HEICIST LD &S0 UB, gauaw,
5O JoITE BB

From the above. the correct combinations are

2 TES 535 DedoPess miodes

Options :

LI
L

LI

L

ILII

4 Honly
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Question Number : 48 Question Id : 1874634848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the followmg
List-1

A) Isogamy

B) Anisogamy

C) Hologamy

D) Conjugation

B0l T80 =SLdH DA
e -1

A) SwSod@riio

BJ G5 OGN

C) FS'Ban

D) ®Sodiene

The correct answer 1s

08 @J;& BT T BN

Options :
A B C
: NV 1 m
A B C
N N I Vv
A B C
I m I
3

D

I

I)
)

V)
V)

List-1I
Plasmodium
Vorticella
Asrasia
Monocysrtis
Trichonympha

—
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Question Number : 49 Question Id : 1874634849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Tashkent ulcers are caused by

£ ~

e 08 Pods SONOT ST £
Options :
Leishmania tropica

Leishmania donovoni

é.a;.aair' ST

Invpanosoma gambiense
3
Witchereria bancrofii

SST0al oy

Question Number : 50 Question Id : 1874634850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Entamoeba histoivtica is an obligate anaerobe

Reason (R): It lacks mitochondria

Sdo (A): Jodasr SFFTLs vl eTcin BTHED
5820 (R): TS oGS o8

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(A) S0bcsn (R) 03 Bodr H0GHD S0k (R) w@b (A) S 56638 56w

gcollegeduniaa
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Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) 003w (R) w0 Tod» S0&030 3 (R) 238 (A) § 506308 i 576
(A) 18 correct but (R) 1s not correct
| (A) 50080 570 (R) S0@sis =&
(A) 1s not correct but (R) is correct

(A) 58658 6 &9 (R) H0GHS6
4

Question Number : 51 Question Id : 1874634851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following
List-1 List-1T
A)  Plasmodium malariae )  Malignant tertian malaria
B) Plasmodium falciparum II) Mild tertian malaria
C)  Plasmodium vivax ) Quartanmalaria
D) Plasmodium ovale IV) Dum dum fever

V) Bemgn tertian malaria

BoB 8 285G

ade -1 ade -11
A) FVgdabo WEOTD D Sr0Red Tochs HBdok
B) 2d98abo oo ) g BEhHS SoTdok»
C) 2dabe I ) s%xd3 SoBoosr
D) ZFVydavo ade V) &ado agdo

V) 835 50c%s 5800

The correct answer 1s

SOTWS SSITHEN

Options :

1 E
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A B € D

L

Question Number : 52 Question Id : 1874634852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Read the following statements and pick up the correct one

Bod woTod wfgchic TR HOGE TIQ Lloded

Options :
Rhabditiform larva of Ascaris undergoes 4™ moulting in alveoli of lungs of man
&7 00 Bk, TPEPE) uroT; SrIYI HR06RVETW Toln Frod' 43 A8 S
1 VOl WTs STolA

Inflammation of lymph glands due to Wiichereria is called lvmphangitis
5000l Sy FAOS odhod' §aN Ty, TP SoPoBBL wulrd

[ ]

Cocaine 1s obtamed by the acetylation of morphine
SrO)RE JRFTTES Dehde TET SRR 6§ I

Excessive dosage of cocaine causes hallucinations

§3%0 ©is Irernd’ Dloddo Erods s 8mo wH%od
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Question Number : 53 Question Id : 1874634853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

These cells of corpora adipoesa of cockroach store food matenals

2 Q0

tal

at,
A
e

500" BTV & Swrod STOIT T LD B

Options :

Mycetocytes

- B 1—5-:“,_‘__
i O Cw et
[ S

"F

Trophocytes

[ B T
SR

b

Oenocytes

sl 49 Ju
oo f-’in.-"u
B ¥

irate cells

ad® — -

G0l Scoren

Question Number : 54 Question Id : 1874634854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following regarding blood circulation i cockroach and identify I and IT

Heart |«

[ |&| Pericardial sinus

e

Aorta i
J T
Head —s| Perneural sinus

ko

G008 I @Rl Souodold $ob vorodn 000 LI ol Mfuded

i

[ || Fdcride S0

|

I

T

— Soab Lo

Options :

I1-0sha:
|

I - Haemocoel;
I- 8§505Go;

E.

I - Pertvisceral
3

1-Ama:

I-J88cSons:
4

1- ézefg:.’m:rw;

SINS:

1-Sorgo88o §'80:

IT - Penvisceral sinus

11 -E‘-Fguéﬁuﬁ Sl

IT-Ostia
11 - Sowrgdoogren

I1-0Ostia

II - oo gldnwrod

IT - Permvisceral sinus

II- ﬁﬂ‘guéﬂuﬁ 5SLdo

Question Number : 55 Question Id : 1874634855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Oriented locomotor movement of an organism towards or away from Light source 1s called

508 Srgral wdhoom BE HEt8 M9S* 2o Jod Bigagdrd) & DFomr DE)0LrE:

Options :

Photokinesis
5708 855080

Phototropism

5700 IGO0

L2

Phototaxis

208 VRISV

Photoperiodism

508 5oA0

Question Number : 56 Question Id : 1874634856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Daphma exhibits cyclomorphosis
Reason (R):  Itis an adaptation for Dapiimia to lead benthic life

Ao (A): TPl Fom SrdIEHH BEGE6
580 (R): 28 FQalr BwE, Dol BHTAS o8 tdsrolc
Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) 0cdn (R) o Boder S0GHED So0din (R) w386 (A) % S0G308 Jdd
L
Both (A) and (R) are correct but (R) 15 not the correct explanation of (A)
(A) S0ciw (R) & Bodr 3050 579 (R) 38 (A) 8§ S0808 50w 5780

-
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3

(A) 1s correct but (R) 18 not correct

(A) 306186 5 (R) 20330138 &

(A) 1s not correct but (R) 1s correct

(A) 5683558 5% 3 (R) $08056
4

Question Number : 57 Question Id : 1874634857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Match the following
List-1

A) Metabolic rate

B) Bodysize

C) Size of body parts
D) Energy flow

Bo6 T8I =SB0

B) Z% 56%rmo
C) &5 gme S85r20

D) 3§ @l

The correct answer 15

:6&@;:3 DI ST oS

Options :

l

LJ

A B C D

N 1 on I

A B € D

H&8%

)
V)
V)

List-11
Jordon's rule
Allen’s rule

10 percent law
Van't Hoft s mile
Bergmann’s rule
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A B = D

A B € D
v vV I 1

Question Number : 58 Question Id : 1874634858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements
I) Camels are partial regulators or partial conformers
) Inlimnetic zone of a lake. decomposers are almost absent

Il) Ten percent law for the transfer of energy from one trophic level to the next was
proposed by Elton

IV) The natural reservoir of phosphorus is sea

V) Incase of parasitic food cham. the pyranud of number 1s mnverted

Bol woTw wIgulddo Bohod

D o8 88 Jcho@sen S8 S oldrdisen

I) ®&38 Wodoo (OT)EE Jodev) & Qﬁ"]éﬁird:am STYT GosY
1)

w8 FEE Pow 008 S8 Jows 9§ HHIEH Sowodod I8 T WrER) IS

IV) S&eomr ;’r:&_)dﬁ Oaroqaiody DRI e
V) 50§ 2o Sowodold Sopguddnd sylotbwim &oluod

Among the above, the incomrect statements are

w UG SR woT e Diodud

Options :

1

.V

LI

I_._r

OLIv
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Question Number : 59 Question Id : 1874634859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 4 individuals are died and 8 mdividuals are bom in a laboratory population of 40 fruit
flies during time interval of 7 days. calculate the mntrinsic rate of natural increase for frunt
fly population per week

el WaAriToS'Y 40508 $ie soed” 7iaed 4 S08 e HCHBoNID. 8 Bod

Sifen 2oTow. 8 $od SNo 2o A, e WNdo Ao T TTI8

L

0.01

0.1

Question Number : 60 Question Id : 1874634860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Left side shift of oxygen-haemoglobin dissociation curve occurs during

oiHed-rIFTOS Ired HEty JEHIHW 2K ST

Options :

Low pH. low CO,, low temperature
859,35 pH, 889,35 CO,, 885,35 <

High pH. low CO,. low temperature
J89,% pH. 88935 CO, S8 Gais

L
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High pH. high CO,, low temperature

IS5 pH 89,5 CO,, S8 &S
3

Low pH. ugh CO,. high temperature
883,% pH, J89,35 €O, 895 G4Jé

Question Number : 61 Question Id : 1874634861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The following are the parts of human respiratory system

) Glotus II) Thachea

) External nostrils IV) Larynx

V) Nasal chambers VI) Bronchi
VII) Alveolar ducts VIII) Bronchioles
Sris T SpSet Somofodd wres od admEon

) Sogdoo II) Soiuaeo
o) =rdgoes Sogos IV) &g adss
V) &5 sggw VD) #areos
VII) o508 Tvoen VII) s 98e0

Arrange them in correct sequence through which inhaled air reaches the alveoli
Gantoodd ™ Froin Seod T Do) sz B SO0 38 EDedt wbdps
Options :

o V. L IV, VL II. VIII. VII
1

_ VIL VIL VL IL IV, LV.II

-

; V.LIV.IL VL. VIIL VIL I

; Or v, L IV, I, VI, VIII, VII

Question Number : 62 Question Id : 1874634862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumas
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Study the following diagram of V.S. of tooth and identify the parts L. IT. TIT and IV
Bod RES Sodo JwoPE'd Strdy ePscido B L IL I, IV e H38odiod

Options :

|-

Dentine
2SS

Enamel

Saurr*eﬁ

1

Penodontal membrane
; 203 >rT o & DT

Enamel

BOTTeD

Enamel

DO

Dentine
308

I

Periodontal
membrane

2odrTolad

b e}

i1
Pulp cavity
26y HoSdo

I
Pulp cavity
26 oS do

I
Pulp cavity
S8y oo

m

Dentine

20835

I‘;r
Penodontal membrane

PROBrToS Y

I‘.‘-’
Peniodontal membrane

wOZrToLS DO

Question Number : 63 Question Id : 1874634863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : Glomemlar filtrate becomes hypertonic in distal convoluted tubule of
the nephorn

Reason (R):  Indistal convoluted tubule obligatory reabsorption of water and Na™ takes
place

JHdo (A) 58, Bdrmc Gxg), droyl Suidfs FEST o8 (BIc ©hs WEs
DoS0d
sdoo (R): Sronl H0S98 TS J bt Na'v elsoy Y hmo adibdud

Options :

Both (A) and (R) are correct and (R) is the comrect explanation of (A)
(A) S:063n (R) oo Boder 200 Soddin (R) 638 (A) So 0588 260

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) S805n (R) e Bodr H6050 50 (R) 630 (A) & 505356 Js8m 56

L

(A) 15 correct but (R) 1s not comrect
(A) S0GE8 57 (R) S0S8E &0

(A) 1s not correct but (R) is correct

(A) S0BSE 5o 50 (R) D0G636
4

Question Number : 64 Question Id : 1874634864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following table

S.No. | Group Number of Typeof Oxygenation
chambers circulation of blood occurss 1n
m heart
I Pisces 2 Smgle Gills
I Amphibia 3 Single Skin. buccal cavity. lungs
m Reptilia 3 Double Lungs. skin
I\Y Mammalia 4 Double Lungs

Bol SYEH efyohio Bokod

S50, | BHiawSo KooBE'R BS6® g§o eshudstoo
fdhe Somg 580 B8 FTITen
I Soenges 2 U8 (D0 S8y
il SPoDTTeS 3 2F 5002 S50, BSHRITT0,
truldasw
m 2O yred 3 Sgody Wade | whiGSgu, W
A% Scoen 1 Grods @adm | GdH08w

Pick up the correct combinations from the above

D PHUS 3B IeloPHols HBoSud

Options :

LIV
]

L

L

L1

OLIV

Question Number : 65 Question Id : 1874634865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following statements

I)  Inthe wall of vemns of man elastic lamuinae are present on either side of mnica media
II) Angina pectoris 1s due to insufficient supply of blood to heart mmscles

) Juxta Glomerular cells of kidney secrete the enzyme rennin

IV) Cellophane membrane of dialyser 1s inpermeable to micromolecules like creatinine

808 woTen wHohdo Bohod

) S0l Bou FECY HGglohsds adIye VETIE oo Godron

I Joza LELIR lme Kol Sodorok 0F J6HT Sido

) Sov@hodod'd ety miderd Sores BUS (rennin) o3 JuBS0dS EITow

IV) Scir8z28a' RG0S dpdo Ear83S ool Srf) vmosy eldgioon
& olnod

Identify the incorrect statements among the above

B FUS J05Q vorw Divdod

Options :

: LILII

LI

L

CLOLIV

oo

Question Number : 66 Question Id : 1874634866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fibrous membrane in the middle of a sarcomere is

god0 puberds Lgyd" &0l docing oo

Options :

LA

L3

1 E
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Question Number : 67 Question Id : 1874634867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Observe the following diagram of V.S, of eye and identify the parts L I, T and TV

. . of 2
IBUE RIBWSE:

Options :

Blind spot

e ud 121353,

Fovea

g

L3

I
Yellow spot
S0 W8,

Ly

S é.‘&;l QOYPS'S Do BO2O0Y L IL IL IV grrren uludiod

Conjunctiva

Sot3>T

A%
Comea

DHEBLOO

v
Comea

-i}gﬁé.:: L0

v
Choroid

alh

4
osSLwo
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I

Blind spot
wod WF,

4

IT

Yellow spot
SY W8,

I

Pupil
508>rS

v
Cormea

BESLO0

Question Number : 68 Question Id : 1874634868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following
List-1

A) Diabetes sipidus

B) Diabetes mellitus

C) Addison’s disease

D) Cushing’s disease

Bod SrE0 2BSBRTHIW
T -1

A) Soirdit RNendD

B) &oSrDin 2oL

C) 833 ag8

D) Lol 7736

The correct answer 1s

wf

E&ﬁ@sﬁ PP S LT i Y

Options :

B C D
o I \Y
B C D
m I I

s2E8®

S8 8¢

List-1I
Cretinusm
Bronze coloured scars on skin

Insulin

Buffalo hump
Vasopressin
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A B C D

A" m
3

A B C D
s N I o 1

Question Number : 69 Question Id : 1874634869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements

I) Thelargest endocrine gland of man secretes adrenalin

II) Tyeellsare mvolved in humoral and cell mediated immunity
II) Natural Killer cells are a type of lymphocytes

IV) T, cells are mvelved in humoral immunity

Bod worw wgoddo Aakod
) 5035 850s' €8 ng eod et ((ud JGTOSH @BIdes
) TySoreor 3SWES, S0 60 SHATEEGuS” IS olron

) S&a $ods saren o8 5300 SuPade

IV) TeBoren BnGES SHNG'GEE8E" S oirow
Pick up the correct statements.
= TEET S0GLN woFw Wludud

Options :

LI
!

M1

L3

, ILIV

LIV

Question Number : 70 Question Id : 1874634870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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Acidity of urethra of man s neutralised by the secretion of

SrSH0 ERESN sled) I8 (@ho SLestiyod

Y =

{

Options :
Prostate gland

; écaiod

Cowper’s gland
§ad (ol

-

Semimal vesicles

BHEIodrw

Skene glands

ﬁ:&,ﬁ‘: logowo

Question Number : 71 Question Id : 1874634871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gcollegeduniaa

el



Study the following

S.No. | Foetal membranes | Formed by Function
111 1an
I Yolk sac Splanchnopleure Not useful for nutrition
II Allantois Splanchnopleurs Store nitrogenous wastes
m Ammon Somatopleure Form placenta
Y Choron Splanchnopleure Prevent dessication of embiyo

Sob JLBOEV worw HIvTos

550, | Sre%m Dod D56 28
PTERLT OO
I e Do) Ino8I'gs Fhs Sd\E8
il sfodo MoEIYro PEBY DOTL Jed
11 & Q)50 FSrEYLE 2T CIW YN0 béﬁdaﬁéu
Y Soras0Y) yoEIGrS wodo o0 FRoT Bowdo

Among the above, the correct combimnations are

2 FEE S0 EAoYes Dlutiud
[ - - —

Options :

LI

ILIO

I-a

oLiv

4 LIV

Question Number : 72 Question Id : 1874634872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Pick up the nusmatched pair

WM 2EICTVE0 28k Mloiod
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Options :

Gonarrhoea - Neisseria
GRITorty - Ix)oair
|
Svphilis - Treponema
DPOR . (BFI50
.
AIDS - HIV
3,
Cervix cancer - Trichomonas
of of. .. 4 . = o= )
: f'icr;am J0PTEE FEAO é(_’.__.ﬁ'a PO

Question Number : 73 Question Id : 1874634873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A colour blind man mamed a woman who 1s a daughter of a colour blind father and normal
homozygous mother. What are the chances of their daughters to become colour blind?

-

IToES; JoEs. Srdiros Sy SONS JdociuMiE 998 2AS (2, ST oLEC0

EONS Yh ITHSrEs 08 £O0N R J0dHdS” ST0GH0 POEDHOUFTIE vIsVo

()

Question Number : 74 Question Id : 1874634874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Asgsertion (A) : Persons with O group of blood are called universal donors
Reason (R):  Their blood plasma contains both antigen A and antigen B

AfFe (A): O 5%o So Sghws FEEE Tder Loty
s°0wo (R): F0 0§ TS Ho=050 A, (P8uaso B Bodr eotraw
Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(A) pOcn (R) oo Bodr S0GEED So0cin (R) w36 (A) $o 3068 28T@
1
Both (A) and (R) are correct but (R) 1s not the cormrect explanation of (A)
(A) 000 (R) w0 Todr 008D 570 (R) 230 (A) § 30330 0w 570
(A) 15 correct but (R) 1s not correct
(A) S8G0&E 5 (R) 20[0E58 58
3
(A) 15 not correct but (R) 1s correct

(A) 505058 52t 52 (R) H0R86
4

Question Number : 75 Question Id : 1874634875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following statements

I) Karyotype of Klinefelter's syndrome 1s AA+XO

M) Tumer's syndrome is an example for trisomy

) AA-+XX+215chromosome is the karyotype of Down's syndrome
IV) Individual with Klinefelter's syndrome 1s Barr body positive

E}n

Bob woTes $0¥Bodo
D E 290 DU Gws), s0ArEY AA+XO

I G50 Ro@'% BFNE sodde

M) AA+XX+2135 E3do ooss F5 bo@ So¥), s0ErTY
V) EEF..}::JE poE'o Sg8 &b 3T 50N Gotrds

=

Among the above. comrect statements are
2 S8 508 soen
- | - .

Options :

LI
1

ILII

L

oLV

LIV

Question Number : 76 Question Id : 1874634876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following theories contradicts Lamark’s theory?

o S), :aa;ua'-'ag LERoT wgpodlo 390 SEudo

Options :

Theory of Natural Selection

o o’ o,
1 BEPL00 TjoB0
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!“.i

Germplasm theory
@iy vEpedo

Mutation theory
&S\0IEN daedo

Theory of biogenesis

2@r3Ue NGgode

Question Number : 77 Question Id : 1874634877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Long neck for Giratfes 1s due to directional selection
Reason (R):  Itworks constantly removing the individuals from one end and constantly

shifting the average value to the otherend.

dgdo (A  2ode 18 DELSTIE smo HFINESE@o

580 (R): & S0oS” of vudgod” g ERoT Fofutnd Jito FJE Jend

Eloer 5088 wodgu IHH abibiod

Options :

1

[

Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) 50030 (R) oo Bodkr $0@SD $o0ckn (R) 38 (A) & $03% D5Cwm

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) So80sx (R) w0 Bodsr H0G8D 570 (R) 38 (A) § 0308 IS0 s°do

(A) 1s correct but (R) 1s not correct

(A) 205058 33 (R) S05036 578

(A) 1s not correct but (R) 1s correct

(A) S0GLEG 5ot 50 (R) B0&0nG
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Question Number : 78 Question Id : 1874634878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Glue prepared and used by the worker bees to seal the cracks in honey combs

= 3 0

BISWE* VB B0 FEEI Srodko: 8@ 3D, DIBrNCS BHG
"3 -

Options :
Chrysalis
@_e?r O

Propolis
(FFOS

L2

Bee Venom

»
.

srd &lo Fody 24 Sage

Question Number : 79 Question Id : 1874634879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following_

List-1 List-11
A) Carcmoma I) Cancer of connective tissune
B) Sarcoma I} Cancer of muscular tissue
C) Leukenmia II) Cancer of lymphatic system
D) Lymphoma IV) Cancer of epithelial tissues

V) Cancer of bone marrow

8ol T8 285N

de -1 e -1
4) sHTSe ) Socdrzs sezroo sl
B) a&&)d ) 5048 Swere 550
C) oEdohr ) a8 JgHdd" sgnd
D) Sudir IV) &48¢ Saeroo sgHo

V) Qfwf Sogd® g6

The correct answer 1s
58 @o-‘ﬁ 20 AT T 000

Options :

A B C D
NV 1 I I

A B &

w

NV 1 v

L

A B € D
N I V I

A B € B

Question Number : 80 Question Id : 1874634880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
P collegedunia:
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Study the following statements
I}  Programumed death of cells is called apoptosis

II) p* iscalled guardian angel of cell’s genome
II) Transgenic cow Rosie produced milk containing -1 anfitrypsin

IV) Nitrosamines are non carcinogenic

Bob worw wigoido Bahod

) Swo Bofsud Hiod) JFUTVS volrd

o) pli addc Ang Suiie 356 wolrd

) =8g80508 e §o Foud' o-l JEEYS sodnud

V) 3EEDs 5450 siew 59

Among the above. the mcorrect statements are

2 o8¢ 0 Bl voren Wfodud

Options :

2

LI

LILIO

OLIV

3.

ILTLIV

Physics

Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 1874634881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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HR. L C. FE v. q.Iand t represent resistance. inductance. capacitance. force. velocity.
electric charge. electric current and time respectively. then which of the following will
have same dimensions?

R.L C.Fv q 0o te S6sm 0G50, (Risdo. 3ouBS), nwo, Ido, dkgs
e3¥0, DEugs (Dordro Hoddin v ol DR, Bod TES' wF Jodhon o THw.

o L q Fv
(a) I°R (b) Rt (c) Ro (d) :

Options :

a&khb
1

a&kc

L

b&d

Elt&d
4

Question Number : 82 Question Id : 1874634882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

At time t = (. a body 1s dropped freely from the top of a tall building and at a later time
t =T. another body is thrown vertically downwards with a velocity “v' from the top of the
same building. The time at wluch the two bodies will meet is

I‘

t=033cho 38 &8 80 FA00p Dol =8 SJ “}.S“J.,]ﬁ' S OLGLTE Bo0Cin
Shad t=T Soko 3¢ 'S Sddd v PS50 Sod v ud ALRLY™ \Bobs
Q0T R. Sod SPwn Senfao wdIcu

Options :

T| 2v—gT
: 2| v—gl

T|3v—gT
3| 2v—gT

4,
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T| v—gT

2| 2v—gT
3

T| 2v—gl

3| 3v—gl
4
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Single Line Question Option : No Option Orientation : Vertical

"; - ® - ® ®
The speed of a projectile at its maximum height 1s —— fimes ifs initial speed. If the

range of a projectile 1s *p’ times the maximum height attained by it. then the value of
Pis

»
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Three particles A, B and C simultaneously start from the origmn. Particle A moves with a
veloeity “a” along X-axis. particle B moves with a velocity *b" along Y-axis and particle C
moves with a velocity ‘¢’ in the X-Y plane along the straight line x=y. The magnitude of *¢’
so that all the three particles always remain collinear 1s

A. B S500cin Cud Soorth Sb00) a8l Surododn) Sod ackhendoron. Smi Al
X-esg50 Soad ‘a” Indnd’, §adn B, Yoilin Jcad ‘b Indnd', sa5n C, X-Y
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Options :

\ a+b

Vab

L

ab
3 a+b

\Eab

4 a+b

Question Number : 85 Question Id : 1874634885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For a truck with 14 tyres. only rear 8 wheels are power driven and can produce acceleration.
These 8 wheels support half the entire load. If the coefficient of friction berween road and
each tyre 1s 0.6. the maximum attainable acceleration by this truck would be

(Acceleration due to gravity = 10 ms™)

1488 fo o8 L8y 5 § 388 dipro SvEd Fogy TOSI Sobain ST SO0
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A soccer ball is travelling at a velocity 20 ms™ due south. At the end of its travel. it moves

with a velocity 2 ms™! due south. If the change in the linear momentum of the ball is
18 kgms™ due north. then the mass of the ball is

wé FE5 208 SBoo Y 20 ms S0t Bosrdits, WSS SEoo 3 2 ms IS’
Eoirdiiyod. o' BPHOh (Big3HeS" Srdoy 18 kems™! sdco I OB & 008 G550
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A stationary body explodes into four identical fragments such that three of them fly off

. _ E
mutually perpendicular to each other. each with a kinetic energy —:}2 . The total energy of

explosion is
JTHWPOS” Mo w8 SRY Twi 89S gl IFLHo Tolsh. 78S Jard
Y % wt A, L] EO A o Y s T £ s =
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Question Number : 88 Question Id : 1874634888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two point objects A and B each of mass 3 g and mitially at rest are connected by massless
threads as shown in the figure. A constant force 2 N acts on the system af point P along OP.
After the point O has moved a distance 20 ¢m in the direction of force. the rwo objects
collide and stick together. The displacement and velocity of the centre of mass of the
system unmediately after collision are respectively

o888 3 g 855072 o Dok J0Ir@o o A Nidin B o3 Bod SyPhe BLos®
S0d dgon BIUSS rood® Suolndid. OP 84S P ok 3% 2No wlwoo S50
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A 13 m ladder 1s placed against a smooth vertical wall with 11s lower end at a distance Sm
from the wall. The minumum coethicient of friction between the ladder and the floor so that
the ladder remains in equilibrimun 1s nearly

v 1§od FR, S 0od 5Sm ordos”

O o
.
GoNN GolTW. AT JDTYES GodLR TSN, Frdes Dy Soddoad
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Two blocks of masses 2 kg and 3 kg are attached with massless string passing over a fixed
frictionless pulley as shown m the figure. When released. the velocity of the centre of mass of
the system of two blocks after 1.5 seconds is

(Acceleration due to gravity = 10 ms™)

(S5god Soid 3o

((’ncbé‘g Sedmo = 10 ms ™)

Options :
0.8 ms upward

1 0.8 ms 3 &¥s*
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Question Number : 91 Question Id : 1874634891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A block of mass 1 kg tied to a long spring of spring constant 100 Nm™' is at rest on a
horizontal frictionless surface. The block is pulled throngh a distance 5 e¢m from its
equilibrium position and released. Then the total energy of the block when it 1s at a distance
4 cm from the equilibrium position is

100 Nm™ (e RUOSe o w8 PEJS Wehis SLuss 1 kg (@550 do =8 &3y
038R 802 SEress SouD IHORES' &S, © By SHePs S0 5 cm Erdo
e} SAOREIH. Yo s &3y éﬁ:a’%{i 0o& 4 cm Srdods” ﬁéléjci; es &3}&' 2080
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Question Number : 92 Question Id : 1874634892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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A number of planets are revolving around the Sun. Time period 1s ‘T’ and average orbital
radius of a planet 1s ‘R, A graph 1s drawn between log T on the Y-axis and log R on the
X-axis with the origin at (0. 0). The graphisa

o35 s drdgd iy Bdbdaen. $5Sds suln T Hou firo Swy,
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Straight line with slope = and not passing through the origin
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Question Number : 93 Question Id : 1874634893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
A wire 15 suspended vertically from a rigid support. When loaded with a body mn air. the wire
extends by 6 mm and when the body 1s immersed completely in water. the extension 15
reduced to 4 mm. The relative density of matenal of the body 1s

SHndg © SS* Fivde 6 mm. SRHH GBS FoT BooASHB © FS® Fos
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In a barometer. the mercury level is 76 cm at sea level. On a hill of height 3 km. 1f the ratio
of density of Hg to that of air is 10*, the atmospheric pressure on the hill is

RBod ko 3 w8 TINOS FSTS Hobdon T6 em Hod. 3 km ARG o wE Fodp,
FECEY FoBs. md Foddo ING 107 vund v Fodd Tedln LSS,

Options :

26 cm of Hg
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Lo

Two metal slabs of equal lengths. equal cross sectional areas and having resistances

the ratio 1 : 2 are connected first in series and then in parallel separately. The ratio of their
effective conductivities is

:
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Question Number : 96 Question Id : 1874634896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ends of a uniform metal rod of length 100 em and area of cross-section 2 cm” are
mamtained at 0 °C and 100 °C. At the mid point of the rod. heat is supplied at a constant
rate of 40 Js~!. If the temperature gradient on the higher temperature side of the rod
i steady state 1s 50x °Cm~. then the value of v 1s

(Thermal conductivity of the metal =400 Js~! m~1 K1)

100 em & Ss0cin 2 em? :.1:.:;5 Fj6 Frogo Ho wf D868 5P §§ O5%ei 0°C

S0osn 100 °C 5§ dowrds. §§ Sy erifos™ 40 Js! JEBLE* &) H0so B
vEE DO 5§ IwE) Jéazr &S Ko arifo 3 oo Blod 50y °Cm, ww:d
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The workdone on the system in changing the state of a gas adiabatically from equilibrinm
state A to equilibriom state B 1s 32.4 T, If the gas 1s taken from state A to B through another
process in which the net heat absorbed by the system 1s 13.5 cal. then the net workdone by

the system in the later case 1s
(lcal=4.21)

&8 Saind) P80 ST Rd Aol W8'E Suepd B ?35‘%50!"-" SrriBoS" SgdR
=0N% S0 324 ] v indd 8 AdwsE B 308 @Pah oxo Sun3gE &
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Question Number : 98 Question Id : 1874634898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A given mass of gas at a pressure *P’ and absolute temperature ‘T obeys the law P = T
dunng an adiabatic process. The adiabatic bulk modulus of the gas at a pressure ‘P 15

P’ LES%s Hboin BE% &S T Ho &8 @508 fo ok Q08 Doy’
Poc T? Dofolirdy 85306, P L4850 5§ oraiod PEES sohd Hwso,
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Question Number : 99 Question Id : 1874634899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of degrees of freedom of a gas whose specific heat capacity at constant pressure
is 33.24 Tmol ' K1, is
(universal gas constant = 8.31 Jmol' K1)

26 bdSe 3¢ D3grn FHoggo 3324 Tmot! K1 i aSgeds of Taing &nE), Kdod

G

w,

OO ;f:.uqsa
(T8 Todw Roroso = 8.31 Tmol'K™)
Options :
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Question Number : 100 Question Id : 1874634900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A man standing far from a hill. fires a gun and hears its echo after 4 s. Later he moves
320 m from his mitial position away from the hill and fires the gun again and now he hears
the echo after 6 s. Then the velocity of the sound in air is

a8 S Ep § o8 Tob o) Ty SrdoS” Jvwd L>E ":‘..:Q_J Q0 PH&AN 4 s ST
AT, Sond © Fod dod, B8 FOTR0 ol Grdo
e
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Question Number : 101 Question Id : 1874634901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A whistle of frequency 540 Hz rotates along a circle of radius 2 m at an angular speed of
15 rad s7!. The difference in maximum and minimum frequencies heard by a listener at
some distance and at rest with respect to the centre of the circle. 1s

(Speed of sound in air = 330 ms™)

540 Hz 25:38g0 fio of do 2 m ogddsn fo 5ged’, 15 rad s7 SFdobh 5&6°
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Match the following List-I with the List-II

A) Mirages I)  Semuconductor

B) Nichrome II) Natural convection

C) Gemamum I} Total mternal reflection
D) Seabreeze IV) High resistivity

Bod 2IcdS JEE-T & JYE-II &' 28B8530

wi3s -1 oe5s - 11
- -
A) JdodbrHeos I) g FE0
B) SIF% ) 35z SodsSe
C) =0cho I} SoFgoedd Boddso
D) 330 88STw IV) ©&§ 8'd8dw

The correct answer 1s
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A beam of light is incident on a glass slab of refractive index 1.54 in a direction as shown in
the figure. The reflected light 1s analysed by a polaroid prism. On rotating the polaroid

(tan S7° = 1.54)

SBSS oo 15480 mar $o¥D el 508 Pouo HLInG® ol Do SEISHBSHS.
STHGS 5708 wE Fooowd SLEE Jnoah. Fuorond JLEUR @D\Shyie,
(tan 57°=1.54)
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Options :
The mtensity remams unchanged
SIS Srdds
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The intensity 1s reduced to zero and remains at zero
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The mtensity gradually reduces to zero and then imcreases
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The intensity increases gradually
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Question Number : 104 Question Id : 1874634904 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A solid conducting sphere of radius 20 cm 1s enclosed by a thin metallic shell of radins
40 cm. A charge of 40 uC 1s given to the inner sphere. If the metallic shell 1s earthed. then
the heat generated in the process is

20 em S gSnfio w8 T&E ol 9w 40 cm Fgrgo Mo o8 Durdd STEESKos
sSfo DEDuEIL. wodd F'eds 40 UC «Dddn addis. ' $6dodk grdod
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Question Number : 105 Question Id : 1874634905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A particle of mass 1 kg carryving a charge of 0.01 C 1s able to remain at rest on a rough
inclined plane of inclination 30° when a uniform horizontal electric field of % V! is
applied. Coefficient of friction 1s

(Acceleration due to gravity = 9.8 ms ™)
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Two identical rings each of radius ‘R’ are coaxially placed a distance ‘R’ apart. They carry
charges Q, and Q> respectively. If a charge *q ‘1s moved from the centre of one nng to the
centre of the other ring. the work done 1s

w8, 5,8 'R" ogrdo fo S9RErds 3ok SyEsd Sobes SFgom R Grdes”
vRdedTow. 8 S Q) idin Q) edvui BhGaun. ‘q° $ETY) o8 Jub
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Question Number : 107 Question Id : 1874634907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A conducting spherical bubble of radius “r” and thickness t (t << 1) 1s charged to a potential
V7. If 1t collapses to formi a small spherical drop. then the potential of the drop 1s

Fosd 58 odl TG 17 bais SoodBwe t(t<<r). & wdh VT FBICHEI®
SITFosin . & 2088 SooodioFon o Od) Fesd dodIm Hrbd, © Dol
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Question Number : 108 Question Id : 1874634908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

A graph drawn between current ‘T" and voltage *V' in a conductor is as shown in the figure.
The changes in the resistance in 1% and 3™ parts respectively

8 TS0 A8gS ardro T 8§ Sobain :&"§£ V' 8 3ofp A0S D SLos' Srhs
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Decreases, remains constant
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Question Number : 109 Question Id : 1874634909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A steady current 1s passing through a eylindrical conductor of radius *“r’ placed m vacuum.
Assuming Stefan’s law of radiation. steady temperature will be proportional to

Tgod” eodndd ‘tT Tgdrdo du APPFFC FEFE0 Mod JOFE Jgd WPWETR0B.
JET@oSH Jowohod YNS VoHdie sgTdom T oUd JusE S LIS
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Question Number : 110 Question Id : 1874634910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The two ends of a non-conducting spring of force constant 50 Nm and unstretched length
of 2 cm are connected to the nud poimnts of two straight parallel rods each of length 4 m.
When 100 A current 15 passed through each rod in the same direction. the work done on the
spring in mJ 1s

50 N sohooso S00dh FHEcHI FEH 2 cmbo of eTdrd Do Gng, Dok
Fhod B H8 4 mFddio Sod 850 Hdredd 3o Dy DudbHo 5§ VAT,
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Question Number : 111 Question Id : 1874634911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The magnetic field normal to the plane of a coil of *n” tums and radivs ‘1’ canrving a current
‘1" 15 measured on the axis of the coil at a distance ‘h" (h=<r) from the centre of the coil.
This 1s smaller than the field at the centre by the fraction

1T A6ogd Wadro 00 1T grdo D0oie 0’ Thiw Mo wf Ity SR voewo,
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Single Line Question Option : No Option Orientation : Vertical
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A thin bar magnet oscillates with a time period T. If 1t is cut into two equal pieces along its
axis. time period of oscillation of each piece is

w8 SR Somrahdy,odn THoTSES Foins' SoTe SoobHd. & echnoed
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Question Number : 113 Question Id : 1874634913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A coil having 200 tums is placed in a magnetic field of 60 e =% T with its plane perpendicular
to the magnetic field. The cross sectional area of the coil is 5e? em”. The ends of the coil
are connected to 100 £ resistance. The current in the coil at t =0.01 second 1s

S em’ efFS Ivoge 0N 200 Dy fo of &F L% 60 e T vuhdyes
SSud’, By Buo Labded BEVE vonuT woBly Ghonl. SRy DICOD
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Question Number : 114 Question Id : 1874634914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A steady current of 2A flows when an inductor of inductance 2 mH 1s connected to ac
source of emf 10 V. Now a capacitor of capacity 2 [UF 1s connected in series. If the current
i the circuit is along the emf. the rms value of the current 1s

10 Vage fo ac 285708 2 mH (Lo 8063 ol (RisQ) S0bidyd Svdbod®
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Question Number : 115 Question Id : 1874634915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A parallel plate capacitor with plate area 1 mn” and plate separation | nun is charged at the
rate of 25 Vs~!. The dielectric between the plates has a dielectric constant 'k'. If the
displacement current through the capacitor 1s 2.21pA then the value of 'k'1s nearly

lnnnm-:ig Srdo S8chs 1 m? 3:‘*&#.&3., Ho Solw Mo Bd8redd Soulo BIFreldd
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In a photoelectric effect experiment. collector plate is placed vertically above the emutter

plate. Light 1s allowed to incident on emitter and saturation photocurrent is recorded.
Now parallel electric and magnetic fields are applied vertically downwards between the

plates. Then

Fod J6gS $08 SErNod” &ab S AGIWI™ of WEOS Sudh. 508) 4T
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Options :

The photocurrent will increase
1 5708 JE0GS WITT0 WD

The kinetic energy of photoelectrons will decrease
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The stopping potential will increase
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The threshold wavelength will increase
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Hydrogen atom in 1ts ground state is excited by means of monochromatic radiation of
energy 12.75 V. The minimum energy of the emitted spectral lines is nearly

grFund’ fo of T8z S6Srmi 12.75 eV 4§ Ko IE5Z J88nod’ 6Buidlad.
&IGdedhy S0 Bpo G § v

Options :

: 0.22 eV

5 0.44 eV

1 E
collegedunia

—



0.66 eV

0.88 eV

Question Number : 118 Question Id : 1874634918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two radio active nucle: *x"and “y" imtially contain equal number of atoms. Their half-life
periods are 1 hour and 2 hours respectively. The ratio of their rates of disintegration after
2 hours from the start 1s

l

0k DESrT S SoPsdwen XN 00w Y W of 9 SSresdv dowg SO0 &S0,
8 w0 298 o S 1 Hody H00ain 2 Hobiwn wowd, @dodio wod 2 fvbo
Shad o8 Jdbd oo IWLs

Options :

| e |
1.

Lk

12
s

Question Number : 119 Question Id : 1874634919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The current gain of a transistor in a common emitter circnit 1s 25, then the ratio of emitter
current to base cuurent 1s

&8 €308 SO Juohod” WrAd Ang, s WaT :}JE 25 wowd o0 Jougs

i 8

BIRE sPE DS BTIE By MG

Options :
25

26

collegedunia

—



Question Number : 120 Question Id : 1874634920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : FM signal 1s less susceptible to noise than AM signal.
Reason (R):  FM has small operating frequency range.

IHSY (A): Sas FM Housdo, AM 50880 508 &85035 S9pS SO/ G otnod.
sdmo (R): FM 389 3 (oo 35198 Tz SO0 Goduod.
Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(A) 28052 (R) 00 Bokr $0@%D 530650 (R) e3a (A) & 5038 56

Both (A) and (R) are correct but (R) 1s not the comrect explanation of (A)
(A) 0csw (R) w0 Bodr S050ED =0 (R) @36 (A) § S05308 D500 573

L

(A) 1s correct but (R) is not correct
(A) 50058 ¥ (R) SOG58 6

(A) 15 not correct but (R) 1s comrect

(A) 306056 =& 570 (R) H0G0SS

Chemistry
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 1874634921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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The kinetic energy of electron ejected from a metal surface is 0.70 eV. If the work
function (W) of the metal 1s 2.30 eV, the frequency of radiation falling on the metal surface
mHzis (1 eV=1602 « 107°7)

%8 O 08w D0k WSS Jogs He=2¥8 0.70 eV. e ein SJGIvao (W)
2.30 eVaons sd'5 &iddocn 58 I8 D6igo Hzod" (1eV=1.602 * 107° 1)
Options :

7.25 % 10V

1.38 « 1013

-

1.38 « 10M

7.25 < 10™

Question Number : 122 Question Id : 1874634922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the ratio of radii of electron in the first excited states of He™ and Be®™ is 2:1. the energies
of electron in their corresponding excited states in J is

-

He”, Be' o 3088 &3s8 pdod Juge 555o TyTrTo g 2l vonsd, 58
Son0ds 828 pHos” Jogs o Jod ShEm

Options :

218 x 10722 =872 x 10°2®

1
872> 10718, 218 « 10718
-2.18 x 10718, —4.36 > 10718
3
—4.36 > 1072, 218 % 107®
4

Question Number : 123 Question Id : 1874634923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Identify the correct statements from the following

1. €O 1s an amphoteric oxide
. As,Oj5 15 aneutral oxide
ut.  Cl,0;1s an acidic oxide

v,  CaO1s a basic oxide

Options :
L 1L 111 1V

i1. 111, v only

L

ii. v only
3

v, only

Question Number : 124 Question Id : 1874634924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Atom X (1 molecule 1) has electrons in 1s. 2s and 2p orbitals. Atom Y (inmolecule 2) has
electrons in 1s. 2s, 2p. 3s and 3p orbitals. Atom Z (mn molecule 3) has electrons in 1s, 2s,
2p. 3s. 3p. 3d and 4s orbitals. Observe the following statements

i.  AtomX canundergo sp. sp” and sp® type of hybridisation
ii. AtomY canunderzo sp . sp°d type of hybridisation
iii.  AtomZ canundergo sp’d”. d*sp’. dsp”. sp° type of hybridisation

wSraed Xlgamod 167 &0 1s. 25 5o0din 2p et §HS” Jugreooanow. HUSra
Y (gaog 2 &%) &°Q 1s. 2s. 2p. 3s So0cin 3p sBrg)S’ IO owoamun. SO
Z(vmd 3% &' ls. 2s. 2p. 3s. 3p. 3d Dbt 4s 8\ S" JuEIS LT,
Sob ISwud S0800SN

L 565 X.osp. sp? So0csn sp’ 65 SosbEdmo JosHeds

i,  $8S5rewd Y. spl. sp’d 8839 S08888mo Fodhod:

il o865y Z. spids. d2spd. dsp?. sp? 6859 S08bstoo Iodiodk

The correct statements are
DOS0S JBSen
Options :

iiienly

1. 11 only

I

i, 111 only

1. 11 11

Question Number : 125 Question Id : 1874634925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

The number of electrons present in valency shell of S inSFg HaSO, and SCl, are respectively

SFs. HySO4 00030 SCh o S &°Q Soq) §61006" &8 Jogso Sopy S

Options :

; 12.12. 6
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Question Number : 126 Question Id : 1874634926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A hydrogen, neon gas nuxture contains 0.5 g of hydrogen and 10 g of neon n a cylinder.
If pressure of the muxture of gases in the cyvlinder 1s 2.4 bar, the partial pressures of neon
and hvdrogen in the mixture respectively in bar are (H=1.0: Ne =20.0)

o8 SI00G' WEAS, e Jdin ESnsT 0.5 gT@es. 10 g Adrs sanow.
ardodt &) ainde DEFSede wddo 2.4 bar ©®aod, JFHERSG Jdirs, TERS
FEE LTy SLSm barods” (H=1.0: Ne=20.0)

Options :

1 03533

1.6.08

LJ

; 0.8. 16

1.5.0.9

Question Number : 127 Question Id : 1874634927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

20mL of 0.04M CuSO, solution reacts completely with 20 mL of certain concentration of
KI solution. If I, thus liberated reacts completely with 20 mL of sodiun thiosulphate
solution. the molarity of thiosulphate in mol L7 is

&8 98Q3d mEs o 20 mL Kl |md=ed" 20 mL © 0.04M CuSOy 320 JoT
ST 0 El. verel SUS” J0odsS I, 20mL dciho é&r&éﬁaéﬂé‘ 0

o :ﬁ-ﬁgrﬁ‘u&a’h
$RrEBE 3oty mol I ost

Options :
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0.01

0.02

-

0.04

, 0.08

Question Number : 128 Question Id : 1874634928 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The enthalpy and entropy changes for a reaction at 298 K are 400 kI mol™. 400 J K~ mol™
respectively. If AH and AS are constant over the temperature range. the temperature ar
which the reaction becomes spontaneous i K 1s

298 K 558 o8 S865% Jogrdy, Jog'hud® Srdnyes Sbdm 400 kI mol, 400 J K- mol™.
AH S:0cin AS Juolen eid wid Joum &Hlond IOy wahdssbedeg
sis K&

Options :

1001

8§00

L

101
3

500

Question Number : 129 Question Id : 1874634929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the equilibrium constant, K. for a reaction at certain temperature is > 10°. which one of
the following statements 1s correct?

2 APEPS SIS 58 w8 555 SBoeps ooke K des > 10Pvons §ob dinod’

-
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The reaction hardly proceeds
S0y 2dibo 530

The products predominate over reactants at equilibrium
Sepd 5§ fdiradsy §o8 foiradyw Povom Holran

La

The reactants predominate over products at equilibrium
TR0 36 FAraTie 508 Sdrassw RWeoor Golron

The equilibrium constant 1s less than reaction quotient
SB0eb oroo, Wiy sy proto 0B StyS

Question Number : 130 Question Id : 1874634930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Higher order ionization constants (K;; . K;3) are smaller than the lower
order 1onization constant (K, ) of polyprotic acid
Reason (R):  Itiseasy to remove a H' from a negative 1on due to electrostatic forces

d§do (A): FODFEE shov &6 Firos soiinsdn yousw (Kp . Ky)
sEREIroE woIssm Yoot (K ) §oB S8 Sm solran

5820 (R): Horodd eddrs Sod Hd 8¢ Angdacry s¥pur IWSGE0 oo

The correct answer 1s
SB0H BEPTHB0
Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
1 (A) Subadn (R) oo Bodor HOGND S0t (R) 38 (A) S H0G38 b
Both (A) and (B) are correct but (R) 18 not the correct explanation of (A)
(A) &Baiw (R) 0o Bodsr H0GNI wowd (R) w8 (A) § S0&S didm s

3
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(A) 1s correct but (R) 1s not correct

(A) 3063080 50 (R) 2063058 s
3

(A) 1s not correct but (R) 1s correct

(A) S0630858 572b 50 (R) S0&0sS0
4

Question Number : 131 Question Id : 1874634931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the approximate volume (in L) of 0.02 M KMnOy solution required to completely
react with 0.5 L of 10 vol H5O, solution in acid medium?

el oirdfod’ 0.5L o 10 vol HyO; (@d=wed® Fod Jigdcdhbs sIuds
0.02 M KMnOy (55008 208505700 (L 0es®) Qdbr8 Jod8?

Options :

| 89.29

I

4464

8.929

Question Number : 132 Question Id : 1874634932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In portland cement. the major constituents (11 mol %) are

FoUrol D wSE'S Swpy Db (Brd % o)

<

Options :

MgO . F6303 . CI‘:O_;
1

ALO; . MgO . TiO,

2

Ca0 . Si0, . AlO;
3
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ALO; . B,O; . MgO
4

Question Number : 133 Question Id : 1874634933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sodium borohvdride reacts with I, to form Nal. Hy and X. When X reacts with NaH in
diethyl ether. Y is formed. What is Y?

Faoho FETEE I, & SUgTos Nal Hy Hocin X od J6000h. B $86 46
NaH &' X&5dgS08 Yk J0\0208. Y J8?
Options :

B,Hg

1

H;BO,

Lo

B,0;

NaBH,

Question Number : 134 Question Id : 1874634934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements from the following

i A/H® of graphite is taken as zero

1. In fullerene. every five carbon nng 1s fused to six carbon rings only

1. CO, is prepared by dehydrating formue acid using conc. H,SO4a1373 K

i, JobIS') (96 28 TN Sodho uh FEHS JucrosI Jodido Botesod
DOS0GT
te
Options
| 1. 1. 111
1. 111 only

4
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1. 1 only

, il i only

Question Number : 135 Question Id : 1874634935 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify correct statements from the following
1.  Conventional smog is a mixture of smoke. SO; and fog
1. Conventional smog has oxidizing nature

m. Inthe photochemical smog. the unbumt unsamrated hydrocarbons are converted into
PAN. acrolem and HCHO

.  Photochemical smog can be controlled by fixing catalytic converters in automobile
engLIes

Bod 8" OGS JSmod Miodod

L Joporois A, &, SO;Hicin Dodhe JyEhdw

n. SoREToE s TIGES RO 3BV 000G

. 508 ST TG Foi Sodd wlosy; @' dw PAN. J§°05 Sobcin
HCHO worr Srdogon

V. GiTANES clogres® GBS 5108 oo el 5ud S it

WOS0(BOTD t:bd

Options :

L1 1L IV
|

1. 11. 11 only
"
g 1. 1v only

L. 11 only
4

Question Number : 136 Question Id : 1874634936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In C and H estunation expenment. H>O and CO, formed are absorbed in A and B respectively,
AandBare

C.Hos& Sjgmua (RB>rtod” 35&3 H>0.CO; = S&dm A. Bod® oo Buoson.

A.Bew
Options :

A B
anhydrous CuSOy  Ca(OH), solution
Qo CuSOy Ca(OH), &Sm0

1

A B

anhydrous CuSOy, KOH solution
. Vg CuSOy KOH (58520
A B

anliydrous CaCl, KOH seolution
Qe CaCly KOH (&30

A B
anhydrous CaCl, Ca(OH)s solution
sgo CaCly Ca(OH)» |=¥wo

Question Number : 137 Question Id : 1874634937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ozonolysis of alkene X gives acetone. X 1s

@3&,5 X L&' RE0005 08 I0E'S IWod. X wdodd

2. 3 - dumethyl but - 2 - ene

Z.B-ngé mgéﬁ' -2 - S
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2 - Methylpropene

2- 2036 @HS

B ]

2 - Methyl but - 2 - ene

2- NP wrgts -2- &5

Question Number : 138 Question Id : 1874634938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
What are X and Y in the followimg reactions ?

| -, G, /OV C1, / Anhydrous AlCl, -
X< o Benzene e > Y

$od 8¢S X. Yeau J2?

Cla ;chﬁlﬂg

> G} OV — c -
X« e OES 368, So0 > Y
Options :
X Y
Cl Cl
Cl Cl Cl Cl
Cl Cl Cl Cl
Cl Cl
1
X Y
Cl Cl
Cl Cl Cl Cl
Cl Cl Cl Cl
. Cl Cl

-

—
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X Y
Cl Cl
Cl
3
X Y
Cl Cl
Cl Cl
Cl Cl Cl Cl
Cl
4

Question Number : 139 Question Id : 1874634939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An element has body-centered cubic structure with a cell edge length of 300 pm. If the
density of the element is 7.2 g cmn™. the number of unit cells in 194.4g of the element is

a8 B0 SodiBYRs WS Jomos” 300 pmeo BE wot FEJHH LON S0b. ©
-
3 -

—_—

Sore¥o Fows 7.2 gcm

-

©owd 194420 © Jwrosod” drdd Bdo Rowg

Options :

2.0 « 10%

6.0 « 104

Lid

3.0 % 10+

1.0 < 10°*

Question Number : 140 Question Id : 1874634940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The vapour pressure of a solution of 6.0 g of non-volatile solute in 390 g of benzene at
298 K 1s 3.00 kPa. If 78 g of benzene is added to this solution the vapour pressure becomes
3.02 kPa at the same temperature. The molar mass of solute in g mol is

2908 K 5& 6.0 go sersiio @Ied) 390 go BoddS' S0AR 6 (@ Sw0 arlyudso
3.00kPa. & (@308 78 g BodNS Sendm, ©3 s 5P rdyedso 3.02 kPa &
SrH&0d. & PISe Ired (GSgore g mol o

Options :

60.8
1

50.4

!._r

Question Number : 141 Question Id : 1874634941 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The mole fractions of benzene and toluene vapours mn equilibrinum with the ideal solution

of benzene in toluene at 300 K are 0.61 and 0.39 respectively. The total vapour pressure of

the solution 1s 41 mm Hg . If the vapour pressures of pure benzene and toluene at 300 K are
50 and 32 nun Hg respectively. the mole fractions of benzene and toluene in solution
respectively are

300 K3 7038 &) Bodd sid) (@ dwos DHERES &3) Todd, $5'08 i
o emen S6Em 0.61.0.39. rdmo Jwdo wriynddo 41 mm Heg. 300K58 £ TodS,
G030 riudow SHsm S0 50cin 32 mm Hg gond (@Swed'S Budl, §'o%0
O e ST

Options :

0.25. 0.75
!

0.75..0.25

La

0.30.0.70

0.50. 0.50

1 E
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Question Number : 142 Question Id : 1874634942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Solutions of CuSOy4 and AgNO; were electrolysed with a current of 1.93 amperes for
500 seconds separately. The amounts of copper and silver deposited at cathode respectively
1 g are

1.93 502D 8 800" CuSO, . AgNO; IS oid 3 S 500808 i JogheEam
DO T I8 VEIN 5700, Rogd Jbdseres I&STT g of
Options :
, 0.63.0.54
. 0.315. 054
0.315. 1.08
3
1.08, 0.315
4

Question Number : 143 Question Id : 1874634943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the rate constant of zero order reaction is 3.0 » 10~ Ms~. the time taken for the initial
concentration of the reactant to fall from 0.30 M to 0.03 M 1n seconds 1s

LSgESrossdy T Horose 3.0 > 107 Ms™ wond Solradso sdod mds 030 M

aow 0.03 M s !55‘16.7“@@ SN OLHY wsuauu

LA

Options :

, 20

10

12

60

Question Number : 144 Question Id : 1874634944 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Which one of the following methods 1s used to make gold sol?

RS 8% Scirds Sohmal §od Sghod 300 S5RPNRE?

Options :

Ultra filtration method
: %'DJ“Q NPos éga

Peptization method

—_ 8 & of
Jgééﬁl a:l-!z@

L

Electrical disintegration method
DEHE VLo DG

Dialysis method

SoirOnn WEO
4 -

Question Number : 145 Question Id : 1874634945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the van-Arkel method of refining Zr. the impurities (x) and the substance (1) used are
respectively

T-uT,S BEOT Zr ¥EJ0 DBnIPE HdTw (x) Dbcin eIdrhod Sago
(1) e B[
Options :

1 I=(N1.0:|_} 2*1'=Clg

.T=(N1 .03}:}"':02

[

3 I':{‘NE.OJ)::I.':I:

¥=(805.03):3=I
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Question Number : 146 Question Id : 1874634946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An oxoacid of P(A) on heating disproportionates to form an acid (X) and a base (Y).
Y reacts with CuSOy solution to form Cu;P, and sulphuric acid. A 1s a dibasic acid. A. X and
Y are respectively

P Guof), s8hsind) (A) STV3P5 oiiodrso Bod of sio (X) Sodain of
oo (Y) i I8y0008. CuSOy@ieod' Y S6iT o CusPrinbdn PomgtE sdood
JE\0D06. Aes B50d wdve. A, X Sobosw Y eo Scodne

Options :

H;PO, . H3PO; . PH;
H,PO, . H;PO, . PH;
H,PO; . PH; . HyPO,

H;PO; . H;PO, . PH;

Question Number : 147 Question Id : 1874634947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Phosphorous reacts with sulphuryl chloride to form PCls and X. Hot and concentrated
H,S0, reacts with Cu to form CuSOy. H,O and Y. Zinc sulphide reacts with oxyvgen to form
Zn0O and Z. Then X. Y and Z are respectively

TH)0R, SaryBd §BAS" HogTed PClsHiluin X ol JSyEE. Cud' 35 So0din
mE HySO4 S65T08 CuSO, HyO Sofcin Y oio I8 %dds. £0f :‘GQ‘)E efeas'
S8g'08 Zn0 Hocin Z ofo JHHED. soxd X Y Stain Z o Sdam

Options :

SO,.S0,.HyS
l

S0,.S0,.S0,

|

SO, .H,S . SO,
3
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, SO;, SO SO;

Question Number : 148 Question Id : 1874634948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following diffuses through mibber. glass and plastic?

go8 TES* DB dey

=" e L g " - " "l - ol e
G, M L20C530 fJ’_‘of:aat;J MWOET STl WoLeI ?

Options :

lHe

Ne

L

5 Ar

Question Number : 149 Question Id : 1874634949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which pair of elements does not exhibit multiple oxidation states?

D 28 Soroses woud efiite Rédod HE8EDH?
o [

Options :

Mn. Cr

Sc.Zn

L

Fe.Co

V.Ni

Question Number : 150 Question Id : 1874634950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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[MLg]™ is an octahedral complex. Its crystal field splitting energy (Ay) 1s 1.8 eV. If
same metal 1on (M™) forms a tetrahedral complex with same ligands (L). then the crystal

field splitting energy (A)) of [ML ™ ineV is

[MLg]™ &8 epirds Sogo. TR 388 ¢ duas 5 (Ay) 1.8 eV. w8 &'
ecirS (M™) €3 88 (L) o8 Br @ $odqdy dH0R. [MLJ™ 83055 51858

30 Dgfaad 8 (A). eV og’

Options :

) 1.8

0.8

4.05

0.9

Question Number : 151 Question Id : 1874634951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Identify homopolymers from the following
nylon 6 orlon bakelite

I I 114

Bob TBS* Herdoh 0560 HBoTE
s 3585

I

- =
o, R 6 &,
L .

I

Options :

| ILIOLIV

LILV

Lk

LOLIV

LIVV

glyptal
v

neoprene
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Question Number : 152 Question Id : 1874634952 Question Type : MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Examples of fibrous (X) and globular (Y) proteins are

2o (X). feg (Y) @8sos 4ot

Options :

X Y
msulin albumin
RO 2O\ o

1

X Y
Keratin albumin
3048 e exgaarﬁ

3

X Y
Keratin thyroxine
308S Fo89

3

X Y
thyroxine msulm
P08y 203090

4

Question Number : 153 Question Id : 1874634953 Question Type : MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

: Yes Display Question Number : Yes

: Yes Display Question Number : Yes
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Match the following.

List-1 List-1I
A) Receptor I) Noradrenaline
B) Bactericidal ) Tetracycline
C) Neuwrotransmitter 1) Protein
D) Bacteriostatic IV) Ranitidine

V)  Penicillin

8ol SEQ 2EJHTHIW

e -1 e -1
A) o ) 58508
B) drfdPeod Jowd M Teonsa
C) &8 O30 I) (&S
D) ®rgfods I8%0BD IV) G889

The correct answer is

E’o&@oé PP R B

Options :
(A) (B) (C) (D)
, I Vv I I
(A) (B) (C) (D)
i I Vv 1 I
(A) (B) (C) (D)
; i N V I
(A) (B) (C) (D)
" Y I I Vv

Question Number : 154 Question Id : 1874634954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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The order of reactivity of chlorobenzene (I). 4 -nitrochlorobenzene (II), 2. 4. 6 -
trinitrochlorobenzene (III) and 2. 4 - dinitrochlorobenzene (IV) towards nucleophilic
substitution 1s

S8R HO8 (LERSwo0 UL §'0Twds (1) 4-JETETeds (1. 2. 4. 6- B3 §'0TodS
(III) S0cin 2.4 - B8 0Boda (IV) v JSogiud Eho

-
11
e

Options :

M=>0>IV>I

M>IV>II>1

L

O>M>1IV>1

IZN>1IV>1

Question Number : 155 Question Id : 1874634955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are a. 4. ¢ and ¢ n the following reaction?

Bod SEgod® a. b, c. dws A3?

fT(CH3)3C—0H + b Al——e [(CH3)3C—O—]3 Al+ dH:".

Options :
a b ¢ d
2 s 3
1 6 2 2 3
a b ¢ d
- S 1 2
a b ¢ d
5 4 1 1 2
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Question Number : 156 Question Id : 1874634956 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Lucas reagent 18
QOIS R B080 Yaond

Options :

Bl'l / CC14

KMnO, /H®

L

HCl/ anhydrous ZnCl,
HCY =& ZnCl,

C HS0,C1

Question Number : 157 Question Id : 1874634957 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Structures of catechol (I). propiophenone (IT) and phthalaldehyde (I11) are

BLES (D) IDHBroSS

Options :

[

4
OH

(II). peorga (III) © Wlep S a0S
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Question Number : 158 Question Id : 1874634958 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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What are X. Y and Z m the following reactions ?

Bobd S8ged* X Y. Ze 32?

CH,CH;
@f ’ 1) KMn0,-KOHA <
%) Hy0" i
s 1) KEMnO,-KOHA
F L
©/ 2) H,0" 24
CH,CH,CH;
S 1) KMnO,-KOHA .
©/ %) H:0" ;
Options :
X Y Z
@/CHJCOOH @,COOH O/CHEC‘HECOOH
!
X Y Z
2,
X X Z

O/COOH U COOH @/C OOH
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@/CHO CHLCH,

Question Number : 159 Question Id : 1874634959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify X m the following reaction

1) BaOH), <

acetone 3 A

ISISTI
I It

Options :
4 - methylpent - 3 -ene - 2 - one

S

44

- p=— Ehﬂ', 1‘.':-
4-@%&;4@5 -3 =Sy =2 -

3 - methylpent - 3 - ene - 2 - one

3-0FSTol -3-60 -2 -4

pent - 3 -ene -2 -one

=

- i.ni

Fa

" ol -3-&

Question Number : 160 Question Id : 1874634960 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What are X and Y in the following reactions?
8ob Sdgos® X Yoo 207

RCHO —> 5 A —Y 4 RCN

Options :
X X
‘ .
X X
NaNO, / HCl (CH;C0),0
X Y
NH,OH CeH;SO,Cl/ CsHN /343K
3
X Y
Cu/S73K (CH3€0),0
4
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